Pbup nz  zol9g

lohwe 3

;ﬁ Tuw\ in MW /SW\)éﬂLS

Men Warm V‘p Z Umb(j Qam

wes: Discussion JGut

+ Do fonéwa befre cluss Sup 3,9 ab
Ch20 Bobs 17,59

* Bﬁ"‘ﬁ Yo dass — disiwss fronle n groupl

* No FwA W

* QW; S-10 muA af VLN Jz ¢ lesg

Camlambé Lowo

Coulombs oo p(‘ov{dz.s ¥ basic tule for a dore  exerked b\nﬂ
4 stzh 0ran charged parhele:

a)flu MaﬂMhA[fL o? e 7Eafce oxer¥d }M ab\]c(}\

_‘- Ll on 2 ‘s &

| .

| - g chage S
| R | e
 whee Clwﬁeﬁz,

k= 8.99 x (0TNm* /2

b) the dirchon s detomingd by +e bepc/ Jathact rule  and Vs afonj
Yu SHME’M’ e behpan iy ?wh'ctz,s

"—‘-_-\_

Tt should be shressed +hat charge ond  forces  ae vy

da'shnct quankbes. We  con usivale Hese  viee  varous malogou:




Elechrostabcs

6mm‘B

Charzé@ = 1Mnake P"”P”l’j

of on 0P>J'ect
elechen
Z g,= ~Lexlo™MC
Clnng cescnbes

ab{h‘@ of Pwh‘ou re)
oxert + Fea) clachne
force

tote  descrnbes
Wohon  bohy een

TWo cﬁwgad
Objcc\s

A s olaked c,l/\&:;rﬂ{d
pakle  has chage
but  does ot have

foree

G)mf z |

Quwiz 2

Note +hat e ohar%e, o m

.1.

Mass = 1nnake preper
ofF on okil‘edr

elacvor
&

m= AINxlGE kj

Moss _&acr;;es _
abilily oF sarhcle
1 exert + feel

Srav{?ah'or\a' ‘Fofcg_

Valwe of  coin o
osenbes abib’)ﬁ o
oken (o) to Qcquire

goeds [serviws

Rere  desovhes

inereeNun  behveen

W o ob\J’aH AN
M&sS

An isolaked massive
parhile has  mass

but  no fwca_,

okﬁccf o/\‘ﬁ

]

?“’*fj defermungs  He

fore that v wxets for I@[;),C)%f@' factors  are,
) the chorge oF e parhcle  with whith 3 inteacls

2

A o n y "

Iz




Mulhe olaar%@ PaJHcQA

Suppose that  a cCharged Parh'dé oF et Zog s 1n Y
\/ic‘\"nfm of  soveal  ofwr L[/wu-@{d Par)\‘otes‘ If we ae inteetted i1
#e mohon oFf 20@ vhn e need He et fore on ?:cg Than

o genara\ tule 18

A
S @ |
Frwn%"' Flon% o T-Lo.n} 5 +203/
?z"“t A
ond  on mportat ule s that  eack 9= E
' - =) 1on g
0\E Yo ;A.CuV)C\a(Aa, 7Corc¢s could be =
caleulaed  as it Yo ol chages wee G
ot presat -
Quizd

Example: Considy Hie threg

cl/\argzs as 'z)[ushraFccl
G, = -3,0x%l07°C

q,?,= +35.0 % LO-éC.

Oz = +2.0%x107%C

Determing, e nat fosce veckor on ParHcLe Z

Answer . Schome —
/\/f - ——D Determine maﬂru')wus —> (l ADD VECTORS
Obettln '”Gu”M/ + dwechons of L using componants
wcafu. ved‘ocs S ncividuad Torae S A

. \\\\/\ecy



Sep!  Indhividud Foras

The d’&gm inck cates 4
direcNoas
N = .Y
Skpz Plea Frt = F .zt Fount

Siept M&Lﬁnifwlu

= 225N

i klﬁ,nm&l  $900 -5.0 xlo"6c||2.0x107%@ |
on® e T R (2.0x0RY

14 2 |+5.0x10 C {lzo x07®
Fre= & 0l ganuiof o [+5:0210 ¢l 07 oow
r @,OA(OZMJ
Mps  Add vectors vie (omprants. >
T ~ Flor\%-
We need e (oM porents qZS'J i
gOr FlO'\% lOOU o " 1\3
_‘Q_‘;_,.gp_ .
Ny
Pfl .= F”M—% 605300 200 % ]:,%
- o _
= 225N ¢0s30° = |as5N Nechor v cong  conp
ﬁj = Fong sin30° Ez 195N N3N
- 225N sin0” = N3N P
;anl,— _’OON O
“Then
aSN 0z N

'Tne{x: Fx +Fox = |ASN) -1GON  =45N

:Mj = —.3 .\.Eﬂ = N +ON =1IBN



We con conshuct e neb tore  Vector
ond Huis  us magm‘ml/.

—
\rt/\,, b= \/TT_MFH‘: ¢ + L_m’tj “

= \/@;\))z (113 M)Lj

= |SON

Note #ad we cannot J‘M# wdd o  subhuch the Maam'}w(ab of oz

D

and Emi— Yo get Tt We have o fohe ¥a vector clirechons info

alCount .

AR e 85

 When comb)m"nﬂ fone vectors emanbe 12 add vecors usig

/
o mpGI\mt S y

......



